
Nome: SoluzioniSottrazione utilizzando linee numeriche aperte

Matematica www.CommonCoreSheets.it 8 1-7 86 71 57 43 29 14 0

Risposte

1. 77.043

2. 33.193

3. 58.369

4. 24.965

5. 4.728

6. 31.108

7. 10.803

Risolvi ogni problema.

1) 87.534 - 10.491 =

77.043 77.044 77.134 77.534 87.534

-1 -90 -400 -10.000

2) 57.315 - 24.122 =

33.193 33.195 33.215 33.315 37.315 57.315

-2 -20 -100 -4.000 -20.000

3) 68.793 - 10.424 =

58.369 58.373 58.393 58.793 68.793

-4 -20 -400 -10.000

4) 51.098 - 26.133 =

24.965 24.968 24.998 25.098 31.098 51.098

-3 -30 -100 -6.000 -20.000

5) 61.647 - 56.919 =

4.728 4.737 4.747 5.647 11.647 61.647

-9 -10 -900 -6.000 -50.000

6) 91.911 - 60.803 =

31.108 31.111 31.911 91.911

-3 -800 -60.000

7) 98.796 - 87.993 =

10.803 10.806 10.896 11.796 18.796 98.796

-3 -90 -900 -7.000 -80.000
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Nome: SoluzioniSottrazione utilizzando linee numeriche aperte

Matematica www.CommonCoreSheets.it
Semplificato 8

Risolvi ogni problema.

31.108 58.369 10.803 24.965

4.728 77.043 33.193

1) 87.534 - 10.491 =

87.534

-1 -90 -400 -10.000

2) 57.315 - 24.122 =

57.315

-2 -20 -100 -4.000 -20.000

3) 68.793 - 10.424 =

68.793

-4 -20 -400 -10.000

4) 51.098 - 26.133 =

51.098

-3 -30 -100 -6.000 -20.000

5) 61.647 - 56.919 =

61.647

-9 -10 -900 -6.000 -50.000

6) 91.911 - 60.803 =

91.911

-3 -800 -60.000

7) 98.796 - 87.993 =

98.796

-3 -90 -900 -7.000 -80.000

Risposte

1. 77.043

2. 33.193

3. 58.369

4. 24.965

5. 4.728

6. 31.108

7. 10.803

1-7 86 71 57 43 29 14 0
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